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PLISRECOPT = pl1 runtime record io option processin 16=-SEP=1984 02:25:3 AX/VMS Macro V04=00 Page 1 PL
1-603 6-SEP-1934 ?¥:§9:Lg !PLIRIL.SRCJPLIRECOPT.HAR:1 - (1| gy
000 1 .title pliSrecopt = pl1 runtime record io option processin STl
§88§ 2 ‘{dent 71-008/ = P PO Batt am1d03 | ST
000 4 ; STI
8888 g R L R e e Ty g}:
ot *
0000 7 ;* COPYRIGHT (c) 1978, 1980, 1982, 1984 BY B ST
0000 8 i+ DIGITAL EQUIPMENT CORPORATION, MAYNARD, MASSACHUSETTS. . STl
8888 18 i ALL RIGHTS RESERVED. « sTI
- ]
0000 11 ;+» THIS SOFTWARE IS FURNISHED UNDER A LICENSE AND MAY BE USED AND COPIED +
0008 15 s* ONLY IN ACCORDANCE WITH THE TERMS OF SUCH LICENSE AND WITH THE *
000 13 ;+ INCLUSION OF THE ABOVE COPYRIGHT NOTICE. THIS SOFTWARE OR ANY OTHER «
0000 14 ;» COPIES THEREOF MAY NOT BE PROVIDED OR OTHERWISE MADE AVAILABLE TO ANY *
0000 15 ;* OTHER PERSON. NO TITLE TO AND OWNERSHIP OF THE SOFTWARE IS HEREBY + PSI
8888 }9 :: TRANSFERRED. * dizs]
: L ™
0000 18 ;* THE INFORMATION IN THIS SOFTWARE IS SUBJECT TO CHANGE WITHOUT NOTICE * $Al
0000 19 ;* AND SHOULD NOT BE CONSTRUED AS A COMMITMENT BY DIGITAL EQUIPMENT * Pl
8888 g? i CORPORATION. =
b L
0000 2% :* DIGITAL ASSUMES NO RESPONSIBILITY FOR THE USE OR RELIABILITY OF ITS «
0000 23 ;* SOFTWARE ON EQUIPMENT WHICH IS NOT SUPPLIED BY DIGITAL. *
0000 24 ;* *
0000 25 i+ * Phi
0000 2 R R R R R R R AR R R R R R R RN AR AR AR AR R R AR RN RN RN R RN RS -
0000 - In
0000 28 Cor
0000 29 Pa
0000 30 ;++ Sy!
0000 31 ; facility: Pa:
0000 32 : : ! Sy
0000 33 ; VAX/VMS PL1 runtime Llibrary. Psi
0000 34 ; abstract: Cre
0000 33 3 r As!
0000 36 ; This module contains the pl1 runtime routines for processing the
0000 37 . common options for record i/0 statements. Th
0000 38 ; ; 36
0000 39 . author: c. spitz 7-feb-80 The
0000 40 ; ) 60
0000 41 ; modified: 16
0000 42 ; i
8888 22 : Bill Matthews 22-Sep-81
0000 45 ; Fix so_that routine pliSSrecidfrom does return with the
0000 46 ; Il condition code bit clear if an rfa is specified.
0000 47 ; Ma
0000 48 ; : —_—
8888 gg : 1-003 Bill Matthews 29-September-1982 g _:
0000 31 2 Invoke macros $defdat and rtshare instead of $defopr and share. E To
0000 Sg 3 §
8000 33 ;== : 51
000 54 t
0000 55 j Th
8000 56 . Pl
000 57 ; external definitions ! MA
|
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= pl1 runtime record io option processin 16=-SEP=-19

6=-SEP-19

0 8 ;

88 g9 $deffchb
8 60 $defstk
0 61 $defdat
080 6§ $defkch
000 6 $fabdef

0000 64 $rabdef

0000 65

0000 66 ;

0000 67 : local data

0000- 68 ;

8000 ?9

000 0 rtshare

0000 71

0000 72

0000 73

;define file control block offsets
define runtime stack

:define operand data types

define key control block offsets
.def ne fab offsets

;define rab offsets

;sharable

T:i85:23 LRLIRTL. SRESBLIRECOP T man. 1
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PLISRECOPT = pl1 runtime record io option processin 16=-SEP-1984 02:25:3 AX/VMS Macro V04=-00 Page 3 |
1-603 6-SEP-1984 ?¥:§9:4§ !PLIRTL.SRCJPLIRECOPT.HAR:1 ’ (N
S
T? ;pliSSkeyto
00 77 ; this routine uses the current ke¥ number to determine the data type of
0000 78 ; the key of reference and its position in the record. it allocates space
0000 79 ; on the stack for a temporary, if the key is segmented, and 'unsegments’
0000 80 ; the key. finally, the key is converted to the keyto destination.
8000 31 3 rO - addr of keyto descr
000 g : 0(rQ) = addr of keyto
0000 83 ; 4(rQ) - size/prec of keyto
0000 86 ; 8(r0) - data type of keyto
0000 85 ; r§ - addr of fcb
8008 g? : r3 - fcb_L_attr
00 : ré - addr of rab
0000 88 ; outputs:
0000 89 ; rS,ré,r7,r8 - destroyed
0000 90 ;==
0000 91
0000 3 .enabl Lsb
0000 93 plis$Skeyto_r8::
5 6 DO 0000 94 mov | (sp),ré6 ;save return addr
77 00BC C2 05 EO 0003 95 bbs #tabdv_bio,<fcb_b_fab+fab$b_fac>(r2),1408 ;if blockio, cont
68 5 10 E1 0009 96 bbc #atr_v_indexed,r3,1108 ;if indexed,
55 35 A4 9A 000D 97 movzbl rab$b_krf(ré),rS ;get current key of ref
55__2C (& 0011 98 mull #kcb_c_Llen,r5 ;get index to correct kcb
SS 38 A2 (O 0014 99 addl fcb_T _Keb(r2),rS .
65 O0A D1 0018 100 cmpl #dat_K_char,kcb_L_dtyp(r5) ;character key?
28 1% 0018 101 bneq 60% ;if neq, no
SE 000D000FC BF C2 001D 102 subl #252,sp ;get room for lLargest key possible
SE DD 0026 103 pushl  sp :set addr of temp
30 B8 00%6 104 pushr  #*m<r0,r2,r3,r64,r5 ;save regs
53 18 AE 9E 0028 105 movab 24(5{).r ;get start addr of temp
57 24 A& DO 002C 106 mov L rabsl_ubf(ré),r? ;get addr of buffer
58 08 A5 9t 0030 107 movab  kcb_w_pos0(r5),r8 :get addr of posO in kcb
51 88 3C 00346 108 10s: movzwl (r8¥+,r1 ;Jet position in record
51 57 (O 0037 109 addl r7,rl ;add in addr of buffer
68 B85 003A 110 tstw (r8) ;any thing left?
06 13 003¢ 111 beql 20% :1f eql, no
63 61 88 28 003€ 11% movce (r8)+,(r1),(r3) ;copy tﬁis segment
FO 11 0042 N brb 108 ;9o again
30 BA 0044 114 208: gogr #*m<r0,r2,r3,r4,r5 ;restore regs
08 11 0046 115 r 100% .cont ;
7E 08 A5 3C 0048 116 608: mov2wl kcb_w_posO(r5), -(sp) ;push position in buffer of key
6E 24 A& CO 004C 117 addl rab$L-ubf(ré),(sp) ;add in buffer addr
00 DD 80; 118 1008: pushl #0 ;set dst offset
06 AO DOD 00 119 pushl &4(rQ) ;set dst prec
08 AO DD 005 130 pushl 8(r0) ;set dst data type
50 DD 0058 121 pushlL r0 ;set addr of addr of dst
02 DD 003A 1%; gushl #0 ) ;set src offset ) )
18 008C C% 0 E0 005C 1 bs lfabSv_blo.<fcb_b_fab*faﬁ§b_fac>(r2).1303 :if blockio, cont
145 10 E1 0062 124 bbc #atr_v_indexed,r3,130% ;if indexed
04 AS DD 0066 125 pushl kcb_T_prec(r$) ;set src prec
65 DD 0069 126 pushl  kcb_L_dtyp(r5) ;set src data type
1C AE 9F 006B 127 1208: pushab 28(spTY ;set addr of addr of src
0 0} 09 128 ushl #8 ;set number of args :
00CD 0 00 1y S sbw key_cvrt ;convert key into keyto, checking error
66 17 007 1350 sraerr: mp (r sreturn
38 A6 9F 007 131 1108: pushab rab$L_bkt(ré) ;set addr of key
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1-603 6-SEP-19gk ?¥:§9:4§ !PLIRTL.SRCJPLIRECOPT.HAR;1 ’ (1N
D6 11 0078 1 brb 1008 ;cont
1F DD 807A 1 § 1308: pushl lg1 ! ;set prec of src
02 DD 007C 134 ushl lgot_k_fix_bln ;set data type of src
E8 11 007 135 rb 120% scont
10 A& 9F 008 1 ? 1408: gushab rabSw_rfa(ré) ;set addr of key
B N ogg } 4 5b oL logs scont
.dsa 5
8085 139
085 140 ;++
0085 141 ; plis$Skey_hnd
0085 14; : this roufine is the condition handler for pliS$Sreadkey and pliSwritekey.
008? 145 ; it is jsb'd to from an entry mask that lies within the file control
008 144 ; block. This vectoring is necessary, in order to easily get the address of the
0085 145 ; file control block. After calculating the address of the file control
8832 }29 ; block, this routine sets the error code in fab$l_error.
0085 148 ; inputs: A
0085 149 ; O(sp) = address of byte following jsb instruction in fcb.
0085 150 ; outputs:
0085 151 ; none
0085 15; s
0085 15
0085 154 pliSSkey_hnd::
50 6E 00000186 8F C3 0085 155 subl3  #fcb_L_cndaddr+4,(sp),.r0 ;get fcb address
6E O01AE CO 9t 008D 156 movab fcb_T_Condit(r0),(sp) ;get addr of handler
50 5D DO 0092 157 mov L fp.r0 ;start with this frame
52 S0 DO 0095 158 10%: mov L ro,r2 ;save stack frame
S0 O0C AO DO 0098 159 mov L stk_L_fp(r0),r0 ;address next frame
60 10 03 Op 009C 160 robew #3 Fstk_L_pc,(r0) ;frame accessible?
18 13 O00A0 161 eql 30$ ;if eql then end of stack found, return
60 6E D1 O00A2 16% cmpl (sg).stk_l_cnd_hnd(rO) ;this frame's handler us?
EE 12 00AS 16 bneq 10 ;if neq, no, lLook at next frame
60 D& O00A7 164 clrl stk_L_cnd_hnd(r0) ;we aren't needed anymore
51 50 DO O00A9 165 mov l r0,r ;set addr of frame to return to
50 10 A2 DO OOAC 166 mov | stk_L_pc(r2),r0 ;set addr of pc to return to
08 A2 56 DO 00BO0 167 mov sp,Stk_L_ap(r2) ;set non-zero for status
00000000°'GF 17 00B4 168 jmp 9 plisgoto sreturn
50 00000000°'8F DO OOBA 169 30%: mov | ss$_resignal,r0 ;set to resignal
06 00C1 170 ret sreturn
00C 171
00cC 17; s+
00C 173 ;pliS$Sreadkey :
00C 174 ; this routine uses the current ke{ number to determine the data type of
00C 175 ; the key of reference. it then allocates space on the stack to store a
00C 176 : temporary of this data type. it converts the source key to the temporary
00C 177 ; and stores the key address and size in the rab.
00C 178 ; inputs:
00C 179 ; r0 = addr of key descr
00C 180 : (rQ) = addr of key
88( 131 : 4(rQ) - size/prec of key
C 1 i : 8(rQ) - data type of key
00C 183 ; rg - addr of fcb
00C 184 ; r3 - fcb_L_attr
0C 185 . r4 - addr of rab
0C 186 . outputs:
0C 187 ; ré is destroyed
00cC 188 ;

E
b
g |
|
|
{
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PLISRECOPT = pl1 runtime record io option processin 16-SEP-1984 5:3 AX/VMS o V04-00 Page 5 |
1-503 6- SEP-1986 9% §9 43 l‘m Lmecon.m\nn . (1
00C 189 l
0C 190 plissreadket ré:: {
5 68 00 8( 191 mov (sp),ré .save return addr E
3C S 1 51 C 19§ #atr v indoxed r3,1008 ;if indexed, 5
§1 35 A4 A 00C9 19 novzbl rabs$s Krf(rd),rl ?et current key of ref |
C A2 51 ?g 888? }gg g?pb 1o‘ch b numkcbs(rZ) egal key number? |
equ lequ,
50 00000008 gF gO 00D3 199 nov? #pliS_invindnum,r0 .set gval%d key number '
c}. 8833 }33 108 oLl :kil'i Len,r1 e sl keb
: mu cb_c_Llen,r ;get index to correct k¢
51 38 Cg 00E0 199 addl Sb T_Keb(r2),r1 :g
SE  000000FC g C 8054 00 subl #252.5p ;get room for lLargest key possible
E DD OOEB 01 pushl B ;set addr of dst
DD OQOED 0; pushlL # ;set dst offset to zero
04 DD OQOEF 0 pushl  kcb_L_prec(rl) .set dst prec
61 DD O0O0F2 %04 pushl  keb L dtyp(r1) t dst data type
34 A6  OA A1 90 OOF& 05 movb keb w len (r1), rabSb ksz(r&) ;set size of key in rab if not char
61 O0A D1 O00F9 206 cmpl #dat_K_char,kcb_L dtyp(r1) .cﬁaracter key?
13 12 00FC 207 bneq 1108~ neq,
36 A6 046 A1 90 00F§ 208 movb kcb_L_prec(rl),rab$b_ ksz(rd) :set size of key in rab
oc 11 010 209 brb 1108 ~ ;cont in common
SE DD 0105 210 100%8: pushl 8 :set addr of dst
00 oD 0107 211 pushlL # ;set dst offset to zero
1F  bD 0109 21% pushl #31 ;set dst prec
02 0D 0108 21 pushl #dat_k_fix_bin ;set dst data type
34 A6 04 90 0100 %14 movb #4,rab%b_ksz(ré) ;set size of key in rab
0C AE 9F 8111 15 110%: pushat 12(sp ;set dst addr
00 DOD 0114 216 pushlL #0 ;set src offset
046 AO DD 0116 217 pushl &(r0) ;set src prec
08 AO DD 0119 218 pushl 8(r0) ;set src data type
S0 DO0D 011C 219 pushl r0 ;set addr of addr of src
53 S50 D00 O11E 220 movl r0,r3 ;copy kez descr addr of onkey
08 DD 0121 221 ushl #8 ;set number of args
001A 30 0123 22% sbw key_ cvrt .convert src to key data type
SE 28 AE  9E 0126 22 movab 60(sg
OA 00BC C2 05 EO 01§A 2264 bbs #fabdv blo,<fcb b_ fab+faﬁ$b fac>(r2) 1308 ;if blockio, cont
30 A6 SE DO 0130 225 mov | sp,rabSL_kbf(ré) = :set key buffer addr in rab
1E A6 01 90 0136 226 movb ¥rabsc _kéy,rabsb_ rac(ré) ;set keyed access in rab
66 17 0138 227 jmp (ré) ;return :
38 A4 BEDO O013A 228 1308: popl rab$l_bkt(ré) :set virt block num for block io
66 17 013¢ 2%9 jmp (ré6) sreturn;
0140 230
0140 231 key_cvrt:
5C DD 814g g; pushl ap ;save ap
SC D& 014 clrl ;set up status tenﬁ for handler {
6D O1AE C2 9E 0144 34 movab fcb L cond1t(r2) (fp)  ;set up condition handler
00000000°'GF 08 AE FA 0149 35 callg g).g pliScvrt_any ;do the conversion
60 D& 0151 36 clrl (fp :we don’ t need handler anymore
SC DS 0153 37 tstl 8 .conversion fail?
gk 12 8155 38 bneq 1 $ :1f neq, yes, do onkey
C 8eD0 0157 39 pogl .restore ap
05 815A 40 rs sreturn )
50 FF14 CF 9E 158 41 movab sigerr,r0 :get return addr for kexto conversion
50 04 AE D1 016 4; cmpl k(sp) .should we sianal error’?
gA 15 164 4 bneq 20% ;:1f neq, no, do onkey
50 00000000°8F g 166 44 movl #plis_cnverr,r0 ;set conversion error
02E5 1 016D 45 bru fail ;and fail
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1-603 . ot 6-SEP-1984 ?¥:§9:63 !PLIRTL.SRC]PLIRECOPT.HAR:1 .
20 AE OA D 170 46 208 cmpl #dat_k_char,32(sp) ;were we converting to char?
FO 1; 174 49 beql lgt ol ;if eql, yes, it fgiled once, so no
176 48 ;onkey value will be returned
50 AE 0B DO 0176 49 movl ldgt-k char_var,32(sp) ;set for char var dest
24 AE O 00010g 8F DO 017A 50 mov | #256,36(sp) ;set for Length of 256
SE 00000102 8F C lgs 51 subl 25 ap ;get room for char temp
0126 CE SE D 1 Si mov Sg 25 tkk(sg) ;set addr of dest
00000000'GF  010A EE Ph 18; 5 call? 608(59).9 pliScvrt_any ;convert it to char var
5 b0 019 54 push 5 ;set addr of onkey value
g DD 8199 55 pushl, r ;set fcb address
00000000'8F DD 0198 59 pushl  #pliS$_cnverr ;set conversion error
00000000'8F DD 81A1 5 pushl lslis_kel ;set key condition
00000000'GF Q&4 FB 01A7 58 calls #4,g9"pliSio_error :signal condition
04 O01AE 59 re’ sreturn
01AF 60
01AF 61 ;++
01AF 6§ ;pLisSSchk_keycnd
O1AF 63 ; this routine checks the rms rab for status that should be signaled as
01AF 564 : the pl1 key condition. if such a status is found, the onkey value is
01AF 65 ; calculated, and io_error is called to signal the key condition.
01AF %66 ;s inputs:
01AF 67 ; r0 = error sub-code
01AF 268 ; rg = fcb address
01AF 269 ; r3 = address of key descriptor
O1AF 70 ; r& = rab address
01AF 71 ; outputs:
01AF 7§ 3 none
01AF %7 jo-
01AF 74
O1AF 275 pllSSchk_kercnd :
SO 00000000°8F D1 O1AF 276 cmp lglis_rmsr.ro ;rab error?
01 13 0186 277 eql 20% ;if eql, yes, cont
05 0188 78 108: rsb ;return
53 D3 0189 79 208: tstl r3 ;key 5fec1fied?
F 13 0188 80 eql 108 ;:ift eql, no, just return
6 DS 018D 281 tstl (r3) ;key addr specified?
F7 13 O01BF 28% beql 108 ;if eql, no, just return
08 A4 00000000°'8F D1 O01C1 28 cmpl #rms$_rnf,rabSl_sts(r4) ;record not found?
SB 13 01C9 284 beql 308 :if eql, yes, raise key
08 A4 00000000'BF DI 01cg 285 cmpl #rms$_key,rab$l_sts(r4) ey error? )
1€ 13 01D 286 beql 308 ;1f eql, yes, raise key
08 A4 00000000°'8F D1 0105 %87 cmpl #rms$_mrn,rabSl_sts(ré) ;max rec num exceeded?
14 13 010D 88 beql 30 iif e?l. yes, raise key
08 A4 00000000°'8F D1 OIDF 39 cmpl #rms$_dup,rab$l_sts(ré) ;duplicate key?
0OA 13 01€7 0 beql 308 1t eql, {es. raise ke;
08 A4 00000000°'8F D1 O01E9 91 cmpl #rms$_rex,rab$l_sts(ré) ;record already exists?
c5 12 01F1 9§ bneq 108 ;if neq, no, just return
SE 00000102 8F (2 O1F3 293 30s: subl #258,sp :get room for vcha temp
SS DD O1FA 94 pushl ss ;set addr of dest
5 DD O1FC 95 push r ;set fcb addr
50 DD O1IFE 96 push r0 ;set error code
00000000°'8F DD 00 97 pushl lslts_key ;set key condition
0 DD 06 98 pushlL # ;set dest offset
00000100 8F DD 08 99 pushl  #256 .set dest size
B DD 0 0? pushl #dat_k_char_var ;set dest data type
18 AE  9F 1 0 pushab 24(sp) ;set addr of addr of dest
00 DD 1 02 push #0 ;set src offset
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04 A DD 1 03 ushl 4(rd) ;set src prec
08 Ai DD 13 04 gushl B(rg) ;set src gata type
. 53 DD 18 85 pushl rg ;set addr of addr of src
00000000°'GF 08 B 10 ? calls #8,g*pliScvrt_any ;convert key to vcha
00000000'GF 04 FB 0224 0 calls #4,9"pliSio_error ;signal the condition
04 0228 08 ret sreturn
022C 09 ;
022¢ 10 ;++ |
022C 11 ;pliSSwritekey
022C 1§ ; this routine uses the current ke¥ number to determine the data type of
022C 13 ; the key of reference and its position within the record if the f¥fe is :
022C 14 ; indexed. it allocates space on the stack to store a temporary for relative
022C 15 ; file keys. it converts the source key to the temporary (or directly into
022C 16 ; the record to be written) and stores the key address and size in the rab.
022C 17 ; the key number option must have been processed as well as the from reference
022C 18 ; before this routine is called
022C 19 : inputs:
022C 320 ; r0 - addr of key descr
022C 351 : 0(r0) = addr of key
022¢ 3 i : 4(rQ) - size/prec of key
052( 323 . 8(r0) - data type of key
022C 224 : r% - addr of fcb
022C g3 3 r3 - fcb_L_attr
022¢ 326 : ré - addr of rab
022C g?? ;s outputs:
022C 28 ; r3,r5,r6,r7,r8 - destroyed
022C 3%9 ;o=
022C 330 )
022C 331 pliSSwritekey_r8::
56 6E DO 022C 332 mov L (sp),ré ;save return addr :
31 00BC C2 05 EO 022F 333 bbs #tabdy_bio,<fcb_b_fab+fabs$b_fac>(r2),1008 ;if blockio, cont
2D 53 10 E1 0235 334 bbc #atr _v_indexed,r3,1008 ;if indexed,
55 AL  9A 0239 335 movzbl r208b_krf(ré),rS :?et current key of ref
3C A2 S5 91 0230 336 cmp rS, fcb_b_numkcbs(r2) :legal key number?
OA 1B 0261 337 blequ 108 - ;i1 lequ, ¥es
50 00000000°'8F DO 0243 338 movl #pliS_invindnum,rd ;set invalid key number
0208 31 024A §39 brw ail ;and fail
2C €4 024D 40 108: mecl #kcb_c_Llen,rS ;get index to correct kcb
55 38 A2 CO 0250 341 2ddl fcb _T_Keb(r2),rS : 3
SE  000000FC 8F C2 0254 g&% subl #252.5p ;get room for Largest key possible
SE DD 0258 4 pushl s ;set addr of dst
00 DD 0250 344 pushlL # ;set dst offset to zero
046 AS DD 025F 345 pushl  kcb_L_prec(r5) ;set dst prec !
65 DD 8 62 49 ushl kcb_L_dtyp(r5) ;set dst data type |
08 M 64 34 rb 1108 ;cont in common i
SE Db 0266 48 1009%: pushl s ;set addr of dst i
00 DD 0268 349 pushl '§ ;set dst offset to zero |
1F DD 026A 50 pushl #31 g ;set dst prec : .
02 DD 8 6C 51 pushl  #dat_k_fix_bin .set dst data type ;
0C AE 9F 6E Si 1108: pushab 18(59) .set dst addr =
00 DD 0571 5 pushl # ;set src offset
046 A DD 0273 54 pushl &(rQ) ;set src prec
08 AO DD 0276 55 pushl 8(r0) ;set src data type
SO0 DD 79 5¢ pushlL r0 ;set addr of addr of src «
53 S0 00 78 S’ mov L rg.rS ;copy key descr addr for onkey 1
08 D 75 53 usht # ;set number of args ’
FEBD 0 8 59 sbw key_cvrt .convert src to key data type
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= pl1 runtime record io option processin 16=SEP-1984 :25:3 AX/VMS Ma v04-00 P
. ’ y 6-SEP-1934 ?¥:§9:4§ ! 5P o

PLIRTL.SRCIPLIRECOPT.MAR;1

movab LO(SE).sg 'gloan stl&k
bbs #fabSv_bio,<fcb_b_tab+fabsb fa§>(r ),3008 ;if blockio, cont
bbc #atr_v-indexed,TcB_L_attr(r2),2008 ;if indexed
cmpl #dat "k -char,kcb_(_dtyp(r5) ;character key?
bneq 160% :1f neq, no
pushr  #*m<r2,r3,r&> ;5ave regs
movab 12(sY),r1 ;get star[ addr of kel
movl kab_ groc(rS) r0 ;get total Length of key
movb r0,7ab%b_ksz(réd) ;set size in rab
movl raﬁtl_rb?(rk) r7 ;get addr of buffer
movab kcg w_p s0(r5),-8 ;get addr of posO in kcb
1208: movzwl (r87+,r ;get position in record
addi r7,r3 ;add addr of buffer
movcS r0,(r1),#*x20,(r8)+,(r3) :copy this segment
bgtru 20s ;if gtru, more to do, go again
gogr #m<r2,r3,ré> ;restore regs
r 0% .cont
1608: movzwl kcb_w_posO(rS),r1 ;get position in buffer
addl rabSLorbf(ré),rl ;add in addr of buffer
pushr  #*m<r2,r3,ré> ;save regs
movb keb_w_(en0(rS),rabsb_ksz(ré) ;set size of key in rab
movc3 kcb_w_ LlenO(rS5),12(spY,(r1) ;copy key to buffer
gogr #*mnr2,r3,ré> ;restore regs
r 108 scont
5008: movb #4,rab$b_ksz(ré) ;set size of key in rab
108: movl sp,rab$l_kbf(ré) ;set key buffer addr in rab
movb #rab$c_kay,rabSb_rac(ré) ;set keyed access in rab
jmp (r6) sreturn
3008: popl rab$l_bkt(r4) ;set Lbn for block io
jmp ré) .return
.enabl Lsb
9%
:pliSSkeynum
: 1nputs 2
3 rQ - addr of keynum option
3 rl = addr of keg option
: réd = addr of fc
3 r3 = fcb_L_attr
: ré - addr of rab
; outputs .
3 r1l = addr of key option
pli$Skeynum::
tstl r ;keynum passed?
beql 90% . ;ift eql, no, just return
bbs #atr_v_indexed,r3,208 ;if indexed, cont
108: movl #plLiS_notindexed,r0 ;set not indexed file
brw fail ;and fail
503: bbs fatr v_keled.rS 408 ;if keyed, cont
0$: movl #pliS_not eyd.r6 ;set not keyed file
rw fai ;and fail -
408:  bbe #fabSv_bio, <fcb_b_fab+fab$b_fac>(r2),45% ;it not blockio, cont
42%: mov #pLis_ctonblokiosrl ;sef conflicting block io
brw fail ;and fail
45%: tstl rl ;key specified?
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T=003 . el ot EP-198¢ 15:83:43 IALINTS Sacts YReconr . mans1 P29
A 18 1 417 bneq 60% ;if neq, yes, cont
50 00000008' F 618 508: movl #pli$_nokey,r0 iset no key specified
1 1 41 brw fail ;and fail
50 g A 420 60%: movzwl (r0),r0 ?et key number
gA 1 D 421 bgeq 80$ geq, cont
50 00000000°'8F gO F & i 708: movl #plis$_invindnum,r0 .set invalid key number
011¢ 1 6 4 brw fail ;and fail
7€ 3C AS 9A 9 424 BOS: movzbl fcb_b_numkcbs(r2),=(sp) ; get highest key number + 1
8E S D1 033D 425 cmpl r0,Tsp)+ ey num too big?
go 18 0340 4 9 bgeq 70§ f geq, then yes, fail
35 A4 0 90 0342 & movb rO,rabSb_krf(ré) .set key of ref in rab
05 8%69 4 8 90%: rsb
4 4
0347 430 ;+
0347 431 .pliSSmatchgtr
0347 43§ : nputs
0347 433 ; - addr of match_greater
0347 434 ; r - addr of ke
0347 435 ; r% = addr of fc
0347 436 : r3 - fcb_L_attr
0347 437 ; r4 - addr of rab
0347 438 ; outputs:
0347 439 : rl - addr of key
0347 440 ;=--
0347 441
0347 442 pli$Smatchgtr::
16 DD 0347 44 ushl #rabSv_kgt ;set field index of key greater
02 11 0349 444 rb 100% ;cont in common
8343 445
S4B 446 ;
034B 447 .pllSSnatchgeq
034B 448 ; inputs:
034B 449 ; r0 - addr of match _greater_eql
0348 450 ; r1 - addr of ke
0348 451 ; ré - addr of fc
034B 45% 3 r3 - fcb_L_attr
034B 453 ; r4 = addr of rab
034B 454 ; outputs
034B 455 ; r1 = addr of key
034B 456 ;--
034B 457
034B 458 plis$$matchgeq:: s :
15 DD 032% 223 1008 pushl  #rab$v_kge ;set field index of key greater
50 DS 8%40 461 tstl r0 match gtr specified?
146 13 034F 46§ beql 1108 if eql, no, iust return
AD 53 08 E1 0351 46 bbc #atr_v_keyed, r3 308 if not keyed file, fail
B7 00BC C2 05 EO0 0355 464 bbs #fabSv bio,<fcb_ b_f b+fa6:b fac>(r ) 42: 1t blockio, fail
51 D5 0358 465 tstl ri ; key sfec
C1 13 0350 466 beql SOS :if eql, no, fa L
04 A6 01 6E 60 FO O3S5F 467 insv (r0) (sp) #1,rabsl rop(rl) ;set match greater or greatereql
SE 04 AE  9E 0365 468 1108: movab sos ;remove index
05 0369 469 rsb .return
36A 470
6A 471 ;
8 6A 47§ pllitvalrec1dto
6A 473 ; inputs:
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6A 474 ; rQ - addr of record id to
6A 475 ; r¢ = addr of fcb
6A 479 : r3 - fco_L_attr
6A 477 ; ré - addr of rab
6A ‘78 ;-
8 6A &7
6A 480 pliS$Svalrecidto::
Dg 036A 481 tstl r ;record id to specified?
13 036C 68; beql 120% : :if eal, no, just return
OA 53 OF EO 036 Ag bbs #atr_v_recidacc,r3,1208 ;if rec id, cont
50 00000000°'8F DO 037 484 115%: movl #pli8_recid,r0 ;set not record id file
o009 ¥ 8 7 435 brw ail ;and fail
05 7C 4B6 120%: rsb ;return
037D 487
0370  4B8 ;+¢+ 3
037D 489 ;pliSSrecidfrom
037D 490 ; inputs:
0;70 91 ; r0 - addr of record id from
037D 492 ; r1l = addr of ke
037D 493 ; réd - addr of fc
037D 494 ; r3 - fcb_L_attr
037D 495 ; r4 - addr of rab
037D 496 ; outputs: _ .
0370 497 ; condition code 2 bit is clear if rfa from specified
0370 498 ;--
0370 499
0370 500 pliS$Srecidfrom:: =4
50 D5 0370 501 tstl r0 ;record id from specified?
FB 13 037F 50% beql 1208 : :if eql, no, just return
ED 53 OF E1 0381 50 bbc #atr_v_recidacc,r3,1158 ;if not rec%d._fall
51 D5 0385 504 tstl rl +key also specified?
0A 13 0387 505 beql 130% . ;1f eql, no, cont :
SO 00000000'8F DO 0389 506 mov | #pliS_recidkey,r0 ;set record id and key conflict
0oc2 31 0390 507 brw ail ;and fail
10 A6 60 7D 0393 508 1308: movq (r0),rabSw_rfa(ré) ;set recid in rab
1E A4__ 02 90 0397 509 movb #rab$c_rfasrabSb_rac(r4) ;set for rfa access in rab
35 A6 94 0398 510 clrb  rab$b_krf(ré) ;reset key of ref in rab
06 B9 039 SN bicpsw #4 ;clear condition code Z bit
05 03A0 Sl% rsb sreturn
03A1 51
03A1 514 ;++
03A1 515 ;plisSfxdctifrom
03A1 316 ; inputs: ; :
03A1 517 ; r0 - addr of fixed control from descr. 0(r0) is the addr, 4(r0)
03A1 518 ; is word size/prec, 6(r0) is word data type
03A1 519 ; r% - addr of fcb
03A1 520 ; r3 - fcb_L_attr
03A1 521 . r4 - addr of rab
03A1 5 g Jo=
8 Al 5 :
Al 524 pliSSfxdctifrom:: 4
2C A6 D& O03A1 525 clrl rab$L_rhb(ré) ;assume not specified
60 DD 03A4 526 ushl  (r0) ;save addr of fixed ctl
&5 13 8gAg 527 eql 150% ) ;1f eql, none ggecif1ed }
0A 00BC Cg gS El a 528 bbc #fabsv_bio, <fcb_b fab+fabsh fac>(r2),134% ;if not blockio, cont
50 00000000 8F b0 03A§ 5§29 1338: movl  #plis_tonblokio>r0 ;sef conflicts with blockio
009D 1 038 530 brw fail ;and fail

TTTmTTTITTMTTTTM TR ThYT T MR TR T T T T T T T T T T T T T T TR T,
”ﬁﬁﬁﬁﬂﬂﬂﬁﬂﬂﬂﬁﬁﬁﬁﬁﬂﬁﬂﬁﬂﬁﬁﬁﬂﬁﬁﬂﬁﬂﬁﬁ)g
S — — — — — . P fEA M FIFRIFRIfRIfPMIAMAMMAMAMMMMMMMM MM T e




PLISRECOPT
=003

06 A0 88
6
51 00 80

OOOOOOOO'GF 21

—D

50 OOES gg

50 00000000' 8F
ér

2C ¢

SE 04 AE

2C A4
i
AC 00BC C2_ 05

04 AO
00000000"GF 01

56

wVionwn
o

o~
o
v
o

50

o
o
m
w

06 A6

51

51

81

2C A4

51
50 00000000°*
06 A6 0057

OO0 =000 00O

E 15
= pl1 runtime record ioc option processin 16- SEP-19S %

6-SEP-1984
B1 1348: cmpw ¥ gt k_char_var,6(r0)
12 bneq $
3C movzwl a(r0),r1
1 brb 137%
DD 1358:  pushl k(rO)
FB calls 8(i$$bytes1ze
E9 blbc rO 3
DS 137%: tstl r1
15 bleq 150%
GA movzbl <fcb_b_fab+fab$b_fsz>(r2
D1 cmpl r0,rT ~
13 beql  140$
D0 mov | #plis_fxcsiz,r0
1 1398: brb fail
8E8g 1408 : pogl rabsl rhb(ré)
r
9€E 1508: movab 4(sp),sp
05 rsb
.pllSSfxctlto ré
; inputs:
: r0 - addr of fixed control to de
: word size/prec, 6(r0Q) is
: réd = addr of fcb
: r3 - fcb_L_attr
: r4 - addr of rab
; outputs
: ré is destroyed

pllSSfxcttt? ré::

mov L
tstl
beql
bbs
pushl
calls
blbc
tstl
bleq 1 Ot
movzbl b_ b fab+fabsb fsz>(r2
cmpw t_k_char_var,8(ré
bneq
cmpl r0
bgtr 1
movl (
r
r

rabSl rhb(ré)

(ré)
160%
lfabtv _bio,<fcb_b_fab+fa

? pl\SSbytes1ze
ai

.
6
movw
movl
sbl
cmp
beql
movl
brb
cmpw
bneq

r1
$
),.rl
(r1)+

,rabs$l_rhb(ré)
1708:
172%:

175%:

$_fxcsiz,r0
t_k_structure+64>,6(
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:§ i AX/VMS Macro V04=-00
: PLIRTL.SRC] LIRECOPT.HAR;1
;is it char var?

;if neq, no

;get current size

.;cont

.set size, datatyp for bysize
et size

; f Lbc, fail

.anything there’

f Leq, no, just return
5 r0 ;get f{xed control size
.enuf room?

? yes, cont

.snt xed control wrong size
;and

;set addr in rab

;return

;clean stack

,return

scr. 0(r0) is addr, 4(r0) is
word data type

;assume not specified
;save addr of fixed ctl descr
,address spec1fied
ust return :
;if blockio, fail
;set size, datatyp for bysize
sget size
;1f Lbe, fail
.anything there?
eq. no, just return
5 rO ;get fixed control size
.char var dest?
;1f neq, no
;enuf room?
;if gtr, no
;get addr of dest
;set size to length of fixed control
;set adar in rab
sreturn
.right size?
: e? yes, cont
.ses 'ixtd control wrong size
i
ré) :bit sized structure?
if neq. no, cont
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1-603 4 ’ . 6=-SEP=19 g % §9 4% !PLIRT bad LIRECOPT MAR;1 ’ (
0 8ED IYAA B8 opl r0 :get ret addr
SE ;1 C §647 289 gugl rl,sp .get size for temp on stack
2C A6 SE D 4A 590 movl sp,rabs$l_rhb(ré) iset addr of temp
60 1 0445 591 jimp (rh) ;return
2C A& 66 DO 045 S9§ 176%: movl (ré),rabSl_rhb(ré) :set addr in rab
05 0454 593 160%: rsb ;return
0455 594
0652 595 .dsabl Lsb
045 2%
52 DD 0455 597 fail: pushl r2 ;push fcb addr
SO DD 0457 598 pushl ;push error code
00000000'8F DD 8459 599 pushl l\S error ;push error condition
00000000°'GF 03 FB 0Q4S5F 600 calls .g*pliSio_error .s1gnal the error
06 0466 601 ret 3
0467 60%
0467 60 .end

-

|
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PLISRECOPT 6-SEP-1984 ?2:§S:S§ !AX/VHS Macro V04-00 Page 14
Symbol table 6=-SEP=1984 11:39:4 PLIRTL.SRCIPLIRECOPT.MAR;1 (1
STK_L_AP 0000000§
STK L ARG_L1ST FFEFFFF
STK_L_CND_HND 0000000
STKCL-CNDTLST FFFFFFF&
STKCL_DISPLAY FFFFFFFC
STK_L_FP 0000 008
STK_L_PC 000 81
STK_L_PSL 888 0004
STK_L_REGS 00014

brmc s e sms s m e +

! Psect synopsis !

------------------
PSECT name Allocation PSECT No. Attributes
. ABS . 00000000 ( 0.) 00 ¢ 0.) NOPIC USR CON ABS LCL NOSHR NOEXE NORD NOWRT NOVEC BYTE
$ABSS FFFFFFFC ( 0.) 01 ¢ 1.) NOPIC USR CON ABS LCL NOSHR EXE RD WRT NOVEC BYTE
_PLISCODE 00000467 ( 1127.) 02 ( 2.) PIC USR CON REL LCL SHR EXE RD NOWRT NOVEC LONG

R e e +
i Performance indicators !

Phase Page faults CPU Time Elapsed Time
Initialization 10 00:00:00.10 00:00:00.45
Command processing 83 00:00:00.62 00:00:01.80
Pass 1 184 00:00:06.52 00:00:13.46
Symbol table sort 0 00:00:00.64 00:00:01.02
Pass 2 110 00:00:01.72 00:00:0%.87
Symbol table output 15 00:00:00.10 00:00:00.10
Psect synopsis output 2 00:00:00.02 00:00:00.02
Cross-reference output 0 00:00:00.00 00:00:00.00
Assembler run totals 604 00:00:09.72 00:00:20.72

The working set Limit was 1200 pages. ; "

36133 bytes (71 pages) of virtual memory were used to buffer the intermediate code.

There were 30 pages of symbol table space allocated to hold 506 non-local and 56 local symbols.
603 source Lines were read in Pass 1, producing 14 object records in Pass 2

16 pages of virtual memory were used to define i4 macros.

Macro Library name

_$2558DUA28: [PLIRTL.0BJIPLIRTMAC.MLB;1 5
$2558DUA2B: [SYSLIBISTARLET.MLB;?2 6
TOTALS (all Libraries) 1"

513 GETS were required to define 11 macros.
There were no errors, warnings or information messages.
MACRO/ENABLE=SUPPRESSION/DISABLE=TRACEBACK/LIS=LISS:PLIRECOPT/0BJ=0BJS:PLIRECOPT MSRCS:PLIRECOPT/UPDATE=(ENHS:PLIRECOPT)+LIBS:PLIRTM
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